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Read the passage. Then choose the option that best completes the passage.

Canadian reporter George MacDonald was . As a reporter, he
appeared in most of the Canadian daily newspapers. Among the major stories covered by him in
those years were the Titanic’s sinking of 1912 off Newfoundland, the sinking of the passenger liner
Empress of Ireland on the Saint Lawrence River in 1914 and the Halifax Explosion of 1917. As a
publisher for the Canadian Press, he set up a novel system of rapidly reporting of national election
results. On election nights, he would post the progressive results on big cards placed outside the
building or set up in front windows. Large crowds would gather outside the newspaper buildings all
over the country to see them.

(a) the first reporter who set up daily newspapers in the 20th century
(b) both a reporter and a publisher for the Canadian Press

(c) one of the most important newsmen of the early 20th century

(d) one of the best reporters in the world in the early 20th century
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Read the passage and the question. Then choose the option that best answers the question.

| am a veterinarian who found a lost female cocker spaniel without a collar or leash wandering
outside of my office. She is about two feet high and 40 pounds, and she has a broken foot that |
have patched up. It is absolutely critical that her owner come pick her up as soon as possible. If this
is your dog, please contact me at 555-987-0567, or you can reach me at my office at 555-987-1233.
If necessary, my office is located at the intersection of Carlton Drive and Jensen Street, across from
the barber shop.

Q: Which of the following is the best title for the notice?

(a) The Special Sale of Female Cocker Spaniel
(b) Lost Female Cocker Spaniel Found

(c) The Best Veterinarian in Town

(d) The Characteristics of Female Cocker Spaniel

Read the passage. Then identify the option that does NOT belong.

A cannon is piece of weapon that uses gunpowder or other usually explosive-based propellants to
shoot. (a) Cannon diverge in caliber, range, mobility, rate of fire, angle of fire, and firepower. (b)
Different forms of cannon balance these characteristics in varying degrees, depending on their
intended use on the battlefield. (c) First used in China, cannon were among the earliest forms of
gunpowder artillery, and over time replaced siege engines on the battlefield. (d) The word cannon is
derived from several languages, in which the original definition can usually be translated as tube,
cane, or reed.

About TEPS 171






Diagnostic Test

READING
COMPREHENSION

DIRECTIONS

This part of the exam tests your ability to comprehend a reading
passage. You will have 45 minutes to complete 40 questions. Be sure
to follow the directions given on the sheets.



Y Questions 1-16
Read the passage. Then choose the option that best completes the passage.

1. Attention all first year students: Life at a university can be demanding and even stressful if
you do not know what to expect. That is why the Students Affairs Office will be offering a
special Freshmen Orientation this weekend before the semester begins. Students who attend
will get to meet the head of each department, members of the Student Council,
representatives from campus fraternities and sororities, and other guests who can provide
helpful information about what you can expect as a university student. We will also hold a
dance and other social events so that freshmen will have a chance to fraternize with one
another. With this orientation, we hope that

(a) freshmen will be adequately prepared for their college experience

(b) freshmen will understand better about their majors and future careers
(c) all freshmen will have a chance to vote for their representatives

(

d) freshmen will be aware of rules set by the Student Council

2. Inanovel attempt to help curb Shanghai’s jaywalking problem, the city’s officials have
recently enacted a program that . Last year alone, about

700,000 volunteers helped direct traffic at 500 crossroads in the city. Because it is still the
city’s police who act as crossing guards and oversee the volunteers, the extra number of
guards does not actually provide much more monitoring, but the program has another
major benefit. “Once you are involved, you keep the rules in mind,” Shanghai official Ma
Chunlei explained. “The next time you cross the road, you will glance at the traffic lights
first.” Ma said the most important thing was that these volunteers are now more likely to
follow crossing laws.

(a) encourages citizens to report jaywalking to police
(b) allows citizens to be a police officer for a day

(c) makes citizens observe the crossing laws
(

d) allows citizens to volunteer as temporary crossing guards

14  STEP TEPS final - Reading



A health study has revealed that alcohol consumption at an early age
. Children who drink by the age of 12 or 13 are more likely

to suffer employment problems, abuse other drugs, and commit criminal and violent acts
once they reach adulthood. Students who had heavily used alcohol by the 7th grade are 19
times more likely than nondrinkers to be weekly smokers or hard drug users and 4.5 times
more likely to commit thefts. Furthermore, youthful drinking is associated with academic
and social problems in high school as well as an increased risk of behavioral problems into
the early 20s, at least.

(a) has a considerable effect on a student’s mental health

(b) often causes social problems in one’s teen and adult years
(c) is likely to cause numerous health problems

(d) leads to social problems that appear later in adulthood

Are you one of the many people who have experienced problems in the past with facial
cleansers and moisturizers? We have all been there. If you are tired of cleaners that are too
weak or astringents that are too painful, try Cleanse-Out! Keeping facial pores clean is
essential to preventing blemishes, acne, and similar problems that can lead to scarring.

However, most facial cleansers . Only Cleanse-Out

combines the chemicals most effective at unclogging pores with all natural moisturizers to
prevent itching and dry skin. So, with Cleanse-Out, you will get clear, healthy, and
comfortable skin.

(a) do not have moisturizing substances

(b) use harsh chemicals that dry out your skin
(c) make your skin more itchy and irritated
(d) do not conceal unsightly acne scars

Diagnostic Test 15



5. My coworkers are all nice people, but it seems like every night I go out to dinner or to bars
with them. When I first started working here two years ago, I really liked doing this and
getting to know them. However, a few weeks ago I heard that the world-famous Cirque du
Soleil was coming to town. I had been wanting to see it for some time, so I bought a ticket
for this past Thursday. These plans went down the drain when, on just a moment’s notice,
my coworkers wanted to go out that night! I decided to skip the show just to go out with
them, and now I regret it. I am beginning to think that

a) my coworkers are ruining my life
b) my coworkers did not like the Cirque du Soleil
¢) I am spending too much time with my coworkers

o~~~ o~

d) I cannot get a refund for this ticket

6. Throughout the history of western civilization, the status of domestic cats
. About 5,000 years ago in ancient Egypt, cats were

efficient at hunting rats and mice that frequently fed on grain stocks. Eventually, a cult of cat
worship developed, and it lasted for more than two millennia. Later, in medieval Europe,
cats were believed to be endowed with powers of black magic, and they were thus hunted,
tortured, and sacrificed. Furthermore, those who kept cats were suspected of wickedness
and were often put to death along with their cats. Only in the 17th century did cats finally
gain the reputation they enjoy today: that of a mere animal that is a handy and friendly

house pet.

a) has varied greatly depending on the era and society
b) has always been one of hunters of pests

¢) has been one of divine and merciful agents

~ o~~~

d) has been less lofty than that of other house pets
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7.

Currently, the United States is widely viewed as the most economically advanced and
dominant nation on Earth, and this is supported by its abundance of natural resources, high
standard of living, and the fact that its currency is the standard for the majority of
international trading. Nonetheless, the United States is not an independent economic power.
Despite all of its advantages, the U.S. is primarily a nation of consumers; in fact, its domestic
consumption is far greater than its actual production. In the end, it is up to other nations to
produce affordable goods for American consumers. All of this indicates that the world’s

foremost economic power

(a) has exceedingly low rates of imports

(b) is significantly dependent on international trade

(c) actually lacks the material to produce its own goods
(d) exports most of the goods that it domestically produces

A popular belief is that women are far more talkative than men, but how accurate is this?
Psychologist Campbell Leaper of the University of California Santa Cruz conducted a
review of research into the topic spanning from the 1960s to today and saw that there are
many factors that complicate the belief. For instance, during decision-making tasks, men
were more talkative than women, though not when discussing themselves or
communicating with children. Men also dominated the conversation when communicating
with the other gender, and Leaper theorizes that this could be the result of men traditionally
being conditioned to dominate socially. Overall, the study suggests that in certain situations

(a) men are as talkative as women
(b) men do not like talking to their own gender
(¢) men actually talk more than women

(d) social roles prevent men from speaking

Diagnostic Test 17



9. To all users: We would like to inform you of some current changes that have been made to
your accounts. As you know, five years ago we founded Academic Network International
Online in order to provide college professors with quick, convenient, and free access to our
research materials and links to academic social networks. However, we were not prepared
for the amount of online traffic we would have to manage, so we must start updating this
website every month to keep it running smoothly. This will require money that we currently
do not have. Because we feel that we provide you with an invaluable service and you would
like to keep us up and running,

(a) we will compensate for damage resulting from online traffic
(b) we have reduced the size and scope of materials online

(c) we must stop the service for a while to update it
(

d) we must start charging user accounts monthly fees

10. The Federal Trade Commission recently wrapped up its hearings on
. These talks have been held in cooperation with the

Competition Policy Center and the Berkeley Center for Law and Technology. They covered
several issues regarding patents for inventors, including the markets of patents and
technology, the efficiency of these markets, and suggestions for adjusting patent policy to
encourage innovation in developing new technologies. This last issue was front and center
at the hearings, as many critics are afraid that the government is currently restricting

innovation and thus competition with its current patent laws.

a) revising patent laws so that the government can closely monitor new technologies
b) protecting inventors and their patents from being abused by corporations

¢) revising the current patent law to promote greater innovation among inventors

(
(
(
(

d) compensating inventors adequately once they have secured a patent
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11.

12.

Attention all students: Next week the university will be

This past summer we set a record for the number of donors in a day, and we are hopeful
that even more students will donate for this upcoming drive. Anyone who wishes to
participate may report either to the lounge beneath the student cafeteria or to one of the
ambulances parked on the quad. All blood types will be accepted, and all donors must fill
out a medical form and sign a waiver. There will be snacks provided for participating

students afterwards.

(a) holding its quarterly blood drive

(b) raising volunteers to collect blood from students
(c) giving seminars on emergency medical procedures
(d) performing blood tests on students

AIDS drug approvals underwent a dramatic transformation in 1988. Then, there was only
one AIDS drug — AZT - and activists argued that a new drug should be approved as soon as
possible, as long-term studies on new drugs could take too long and deny drugs to patients
in dire need of treatment. Thus, new standards were set for these drugs, which were given
high priority: in this case, researchers examined whether the medication could increase the
number of disease-fighting CD4-cells. If it did, it would be approved more quickly. Protease
inhibitors, a later class of drugs using this standard, proved effective and reduced AIDS-
related deaths by two-thirds in the mid-90s. The success of these AIDS drugs established
standards that

(a) decreased the amount of time spent on developing drugs
(b) expedited the approval of other high-priority medication
(c) made it more difficult to put AIDS drugs on the market

(d) allowed protease inhibitors to be used in other AIDS drugs

Diagnostic Test 19



13. Scientists at Fred Hutchinson Cancer Research Center have made an interesting discovery
that may shed light on risk-taking tendencies in humans. In recent studies, they have found
that the neuroD2 gene is crucial to the development of the amygdala, an almond-shaped
area of the human brain that houses emotional memory — particularly fear. The scientists
tested normal mice and mice with a deficiency of the neuroD2 gene. When exposed to a
certain tone coupled with a mild electric shock, normal mice would crouch down and stop
moving, afraid that they would receive a shock upon hearing the tone; however, mice with
less of the gene (and underdeveloped portions of the amygdala) did not freeze their
movements as often when they heard the tone. These results indicate that the neuroD2 gene

(a) is a key reason why people avoid danger

(b) can actually keep people from acting impulsively

(c) is evidence that mice and humans are genetically similar
(

d) promotes aggressive behavior in humans

14. For the most part, airbags are crucial in preventing injuries to drivers and passengers.
Nevertheless, people should be aware of all the facts about airbags. Most often, abrasions to
the face and arms, and other non-permanent or non-incapacitating injuries are unfortunate
but necessary effects of airbag deployment, which protects against more serious injuries
from an accident. However, other documented airbag-related injuries include fractures to
limbs, severe facial injuries, blindness, severe brain damage, and, in rare cases, decapitation.
Many of these injuries could be prevented by using currently available knowledge and
technology. When these resources are not applied by manufacturers,

a) drivers must rely on other protective measures
b) drivers are better off without airbags in their cars

¢) airbags can inflict unnecessarily harmful injuries

~ o~ o~ —~

d) drivers should be careful when operating a vehicle
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15. The ninth-century Irish legend of St. Brendan’s fantastic journey to the mythical Isle of the

16.

Blessed may have actually happened. While the story is widely regarded as a religious
allegory, Brendan’s “Isle of the Blessed” could have really been America.
, some historical evidence indicates that in his travels to the New World,

Christopher Columbus was actually inspired or even guided by the legends of St. Brendan.
On the eve of his great voyage in 1492, Columbus wrote: “I am convinced that the terrestrial
paradise is in the Island of Saint Brendan, which none can reach save by the will of God.”

(a) However
(b) In fact

(c) Instead
(d) Otherwise

Boomer’s special stereo speakers are ideal for providing the fullest and clearest sound. We
offer speakers in all shapes and sizes for either your home or car stereo. Our models have
sophisticated designs in all driver types: full and mid-range drivers, woofers and
subwoofers, and more. , we design top-of-the-line speakers for iPods

and other handheld digital music players. We also specialize in custom-made speakers. For
a full catalog and description of all services, please visit our website at boomrattlerattle.com
and find the stereo speakers perfect for you.

(a) Additionally
(b) That is to say
(¢) Accordingly
(d) still

Diagnostic Test 21



Questions 17-37

Read the passage and the question. Then choose the option that best answers the question.

17. Oil paints have been a popular and effective means of painting for centuries, and most of the
world’s masterpieces are painted in oils. However, the use of oil paints has both advantages
and disadvantages to the artists, which they might want to consider before choosing to paint
with oils. For instance, because 0il paints consist of pigment that is suspended in oil, they
can take much longer to dry than other types of paints, sometimes weeks. This means that
more time is required for an artist to finish his or her work, which can be an annoyance to
some. However, the flipside of this is that once dry, oil paints hold their luminous colors
longer than other types of paints, and resist wear for a very long time.

Q: What is the main idea of the passage?

(a) Oil paints are durable but expensive.

(b) Most professional artists prefer oil paints.
(c) Oil paints are long-lasting but bothersome.
(

d) Old masterpieces remain until now because of oil paints.

18. The high infant mortality rate in Sub-Saharan Africa is an issue of great concern to the world
community. Every day in Africa, 2,400 babies are stillborn and another 3,100 newborns die
within four weeks of their birth. Mothers very rarely have access to medical facilities of any
kind during and after birth, making the birthing process far more dangerous and leaving
children vulnerable to illness. Given the thousands of deaths that take place daily, there are
surprisingly few causes. Premature birth and common infections account for 87 percent of
newborn deaths in Africa. Even the most basic medical attention could prevent the majority
of these conditions and drastically reduce the infant mortality rate.

Q: What is the passage mainly about?

(a) Dangers of having a baby in Africa

(b) Newborn deaths in Africa

(c) Causes of high mortality rates in Africa
(d) Poor medical conditions in Africa
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19. A beautiful lawn can be a great source of pride for a homeowner, but it requires periodic,

20.

but diligent, maintenance to stay healthy and full. A method used by professionals is to
simply seed one’s lawn with new grass about every five to seven years. This first requires
that the old lawn be removed, of course, which can be done through the use of herbicides.
Once this old grass is gone, new soil and seeds can be placed right on top of the old lawn. Be
sure to water the new seeds immediately, and keep watering them once to twice a day,
every day. Pretty soon, you will find a lush new lawn springing up from the soil.

Q: What is the main topic of the passage?

(a) Performing long-term lawn care

C

)

(b) Removing an old, dry lawn
) Applying herbicide to a lawn
)

(
(

d) Putting in a new lawn with ease

Dear Editor,

I am writing in response to last week’s article on women in the tech industry. I take
offense at your suggestion that women cannot be as competitive as males in the industry.
I, myself, am a manager at one of the country’s most profitable tech firms. It was not easy
to rise through the ranks at this company, I will admit; but over the years I have earned
my high position through hard work and dedication to the company. Women should be
encouraged to enter the technology field, as they bring new and innovative voices to the
table. I sincerely hope your article has not discouraged any young women from pursuing
their dreams.

Sincerely,
Linda Epstein

Q: What is the letter mainly about?

(a) Climbing the corporate ladder in the tech industry
(b) New roles for women in the workplace

(c) How the tech industry treats women

(d) Competitiveness of women in the tech industry
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21. Wellspring Academy is a private school that specializes in educating young people with
disabilities. Our philosophy is that all students, regardless of their handicaps, deserve the
utmost in support and attention as they pursue their basic right to a quality education. At
Wellspring, we do more for our disabled students than any public school. We take a
personal approach, first identifying each student’s needs and then creating a program of
study that is tailor-made to the individual. We have roughly one teacher for every three
students, which allows us to give children the one-on-one attention they deserve. So
consider sending your child to Wellspring. At Wellspring, we make a world of difference.

Q: What is the main idea of the advertisement?

(a) Disabled students should study with students with similar problems.

(b) Private schools are the best solution for students with disabilities.

(¢) The school is equipped with individualized educational programs for disabled students.
(d) Public schools rarely do enough to educate the disabled.

22. Among the most overlooked artists of the Impressionist movement is the painter Alfred
Sisley. Born to English parents but raised in Paris, Sisley studied alongside many of the
future champions of Impressionism, and his works appeared alongside those of Monet and
Renoir at the Paris Salon. Though celebrated in his day, Sisley likely fell into obscurity due
to the rather timid nature of his paintings. He seemed unable to realize the full potential of
the Impressionist movement, and the timidity of his style likely caused him to be outshined
by his peers. His subjects were very traditional — almost always landscapes — and he painted
them with a relatively bland palette of colors.

Q: Which of the following titles best suits the passage?

(a) The Unnoticed but Great Artists of Impressionism
(b) The Most Famous Painter of French Impressionism
(¢) Common Defects of the Impressionist Movement
(d) Shortcomings of an Impressionist Painter
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23. Although classified as carnivores, red foxes have a very diverse diet that also includes plant
matter, such as fruits, as well as scavenged food. Few other mammals display such broad
food preferences; the red fox is as content to hunt for berries as it is to hunt and kill animals
as large as deer. At the same time, red foxes are known to scavenge dead animals and, in
urban areas, the garbage of humans to find a meal. The red fox’s varied diet is just one of
many similar survival mechanisms. It is also common for red foxes to hide food in several
secret locations to sustain themselves during times of shortage. In addition, they are

extremely possessive of their food and never share it with others.

Q: Which is correct according to the passage?

(a) Red foxes are social animals that share food.
(b) The red fox is rarely found in urban areas.
(c) Few mammals have diets as diverse as the red fox’s.

(d) The centerpiece of the red fox’s diet is scavenged food.

24. Women in the country of Nepal suffer great hardships under the current social order.
Compared to men, they carry far more responsibilities yet enjoy far fewer rights in society.
As in most countries, women in Nepal juggle multiple roles, including those of mother,
housekeeper, and wage earner. However, these roles are made even more difficult by the
conditions under which women are forced to work. They earn far less for their labor than
men do, and are often forced to work much longer hours. This makes it highly impractical
for women to pursue any kind of meaningful education or advancement, which keeps them
dependent on their low-wage jobs and trapped in their humble social status.

Q: What keeps Nepalese women from pursuing education?

(a) Nepalese men do not allow the women to learn.
(b) They are dependent on low-paying jobs.
(c) They work long hours and earn very little.

(d) They have no interest in advancement.
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25. Medical research shows that poor sleeping habits may lead not only to exhaustion, but also to
weight gain. The connection between sleep and weight has to do with two major hormones in
the brain and how well balanced they are. Ghrelin is a hormone that stimulates hunger,
driving people to eat, while another hormone, leptin, suppresses the appetite. People who get
four hours or sleep or less per night are likely to have an imbalance between these hormones.
The brain will produce more ghrelin, and the production of leptin will decrease, meaning that
the brain naturally encourages these people to eat more than they normally would. This
finding further underscores the importance of sleep to maintaining good health.

Q: How does a lack of sleep affect weight gain?

(a) It leads to exhaustion, which discourages eating.

(b) It causes an imbalance of hormones in the brain.

(c) It increases people’s appetites, causing them to digest better.
(d) It decreases the body’s ability to control urges.

% Dear Admissions Committee,
I am writing this letter on behalf of Jane Hill, whom I have had the pleasure of teaching
for almost four years, to recommend her for your graduate program. Jane has been a great
asset to our drama department, as she has always sought out ways to get involved in
campus affairs. She served as president of the drama club for two years, during which
time she wrote several plays of outstanding quality, two of which were performed by her
peers to great acclaim. Due to her dedication and hard work, I expect great things of her
in the future, and believe she would be a blessing to any graduate program in theater.

Sincerely,
Buck Addison

Q: Which of the following about Jane Hill is correct according to the passage?

(a) Jane Hill was president of the drama department.

(b) Jane Hill focused on writing plays, avoiding other activities.
(c) Jane Hill’s plays have been performed.

(d) Jane Hill is respected by her colleagues.
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27. Organisms belonging to the genus Prototaxites were among the most bizarre organisms of
the prehistoric world. Prototaxites inhabited the Earth from 420 to 370 million years ago, at a
time when complex organisms were first taking to land. Prototaxities bore an appearance
similar to that of a tree trunk with no limbs, standing as high as 26 feet, but was composed
entirely of millions of small, thin tubes coiled tightly around one another to form a kind of
trunk. For a time, Prototaxites was classified as a plant, but as evidence emerged that the
organism did not survive on photosynthesis, the more popular view arose that Prototaxites

was actually a giant, primitive fungus.

Q: What finding suggests that Prototaxites was not a plant?

(a) It existed from 420 to 370 million years ago.
(b) It reached heights of 26 feet.

(c) It did not rely on photosynthesis.

(d) It was made of hundreds of thin coils.

28. Perhaps more than ever before, parents are taking an active role in the shaping of their
children’s future. However, experts say that so-called “helicopter parenting” can do children
more harm than good. “Helicopter parents” are called this because they spend much of their
time hovering over their children, observing them and directing their actions. For instance,
college professors often receive phone calls from parents who wish to find out what grades
their kids are making. Even worse, some parents have been known to call their children’s
employers to discuss pay raises. Such interference can backfire, since students and workers
are often judged on their level of independence.

Q: Which of the following is correct according to the passage?

(a) Helicopter parents are not concerned about their children’s future.
(b) Helicopter parents are sometimes helpful to their children.

(c) Children are judged on the actions of their parents.

(d) Parents can be too active in their children’s lives.
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29. In the late 19th century, writing in secret codes became a fascination among the general
public. This was due in large part to the emergence of detective fiction, which often made
use of code-breaking as part of the story. One of the simplest and most used methods of
encryption among the public was called pinprick encryption. This involved taking an
ordinary newspaper and making tiny holes beneath specific letters which, when put
together, formed a secret message. This method was ideal in England, where newspapers
were not required to carry a postage stamp. It is said that secret lovers used this method
often to communicate with one another in secrecy.

Q: What was one cause of the popularity of codes in the 19th century?

(a) The appearance of pinprick codes in newspapers
(b) The difficulty of decoding secret messages

(c) The popularity of detective stories

(d) Free postage on English newspapers

30. Everyman is a late 15th-century English morality play, written and performed all over the
country by a group of priests. The play tells the story of Everyman, who is summoned by
God to be judged upon his death. Everyman realizes that he has focused too much of his life
on money and goods, and struggles to rid himself of his sins before going to see God. The
play, like all other morality plays, was intended to teach its audiences a lesson: good deeds
will get you into heaven, while riches will not. Though there is no record of the play’s
original author, evidence does show that it was produced quite often for seventy-five years,
making it one of the most enduring morality plays of its time.

Q: Which of the following is correct according to the passage?

(a) Everyman has had a long run until now.
(b) Morality plays were for entertainment.
(c) The play was frowned upon by many priests.
(d) No one knows who originally wrote the play.

28 STEP TEPS fina/ - Reading



31.

32.

In 1998, art collectors Karen Light and Marcus Pefia opened an art gallery in Seattle to
display their unique collection of outsider art from all over the United States. The term
“outsider art” refers to works created by people with no formal training, and includes many
types of folk art as well as art by the disabled. Karen and Marcus began their collection with
folk art from the Deep South, but over the years have expanded their searches to include the
rural Midwest. Garde Rail is the first gallery of its kind in the Pacific Northwest region of
the United States, and one of just a few outsider art galleries on the West Coast, making it a
truly unique establishment.

Q: Which of the following is correct according to the passage?

(a) The Pacific Northwest is a hub for outsider art.

(b) Outsider art is made by those with no art education.

(c) Karen Marcus began collecting from the rural Midwest.
(d) Karen and Marcus collected their art from the West Coast.

The rising price of commodities is putting a great deal of strain on developing countries. As
the price of oil and food continues to rise, inflation becomes a serious problem in these
places. Many families find it difficult to get the basic necessities for everyday life, as wages
have not risen to meet these higher prices. In addition, developing nations attempt to keep
the food supply at ample levels by importing more and raising taxes on exports. This makes
it difficult for other countries dependent on food imports to get the food that they need. The
result is that global trade is slowing due to the growing isolation of exporting countries.

Q: Which of the following is correct according to the passage?

(a) Jobs have been hard to find in developing nations.
(b) Most countries are importing more than ever.
(c) Wages are not rising to meet inflation.

(d) Developing countries are increasing food exports.
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33. As a writer, I find that inspiration for stories can occur at almost any time. Unfortunately, it
is not always possible to remember all these new ideas until I get home to my work desk.
This is why I began to carry a small notebook in which I could jot down ideas as they came
to me. Over the years, I started pulling out that little notebook at random moments, when I
did not feel especially inspired, and writing down observations of my surroundings. This
has become my most useful tool as a writer. These writings may go unused for months, but
if I do need them to help me write a scene, they become useful indeed.

Q: Why did the writer choose to carry a notebook at all times?

(a) To write down random observations

(b) To organize his ideas better

(c) To record his ideas before he forgot them
(d) To write stories whenever he felt inspired

34. A pair of Siamese twins in the United States has been successfully separated, according to
the team of surgeons that performed the difficult 14-hour procedure. The twins were joined
together from the chest to the hip, and shared an organ between them, the liver, which
doctors also had to separate into two pieces. The American twins also benefitted from the
fact that they were joined only by a bridge of tissue, rather than bone or cartilage, which can
be far more difficult to separate. Siamese twins are a rare occurrence, happening in only one
of every 200,000 births. They become joined inside the womb, when the fertilized egg fails to
separate completely.

Q: What can be inferred from the passage?

(a) It is not always necessary to separate Siamese twins.
(b) Siamese twins are increasingly common these days.
(c) Surgeries on Siamese twins are still relatively rare.
(

d) Siamese twins usually do not share organs.
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35. Tourists wishing to travel from the United Kingdom to France have a number of options.

36.

The fastest way to get to France, of course, is through the Channel Tunnel, which can be
two-thirds faster than the ferry that crosses the English Channel. If passengers plan to bring
their cars, they may take the special “car trains.” For a fee of 49 euros, you can load your car
onto the train and take a one-way trip through the Channel Tunnel. Space is limited, so
booking ahead of time is recommended. For passengers who wish to leave their cars behind,
the best option is to take the Eurostar passenger train, which provides quick and convenient

round-trip service to Paris for a fare of just 59 euros.

Q: What can be inferred from the passage?

(a) Round-trip service is cheaper without a car.

(b) The Eurostar train is more comfortable than the ferry.

(¢) Travelers can drive their cars through the tunnel.

(d) Round-trip tickets through the tunnel are cheaper than the ferry.

As a graduate student, I can remember spending countless hours laboring over the works of
great literary scholars. I never could understand how such brilliant people with such
wonderful ideas could write books that were so downright dull. I brought these same
preconceptions to the table when I first read Walter Benjamin'’s latest collection of essays,
and thankfully, Benjamin changed the way I looked at literary theory. His writing is crisp
and interesting, and for the first time ever, I found myself unable to put down a work of
literary theory. Benjamin speaks to his readers like an impassioned college professor,

engaging them in his research and immersing them in his groundbreaking conclusions.

Q: What can be inferred from the book review?

(a) The book predictably fails to entertain its readers.

(b) The author did not expect to enjoy Benjamin’s book.

(c) Benjamin'’s theories are good, but his writing lacks style.
(d) Benjamin’s book is like no other work of fiction.
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37. Animal migrations can be stunning to observe, whether as flocks of birds flying south for
the winter or salmon swimming upstream to spawn. For the animals, these migrations serve
a number of purposes that are crucial to the species’ survival. There are several types of
migration. Birds travel thousands of miles each year to seek warmer climates when their
food supply becomes scarce. Animals that live high in the mountains may migrate to lower
altitudes when their habitat becomes covered with ice and snow in the winter. Some species
are simply nomadic, and continually migrate from place to place without any specific
direction.

Q: What can be inferred about animal migration?

(a) Migrations take place in the winter.

(b) Mass migration occurs when food runs short.

(c) All animals migrate according to specific patterns.
(

d) Snow threatens the survival of animals in higher regions.
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Questions 38-40
Read the passage. Then identify the option that does NOT belong.

38.

39.

40.

The Battle of Stalingrad was perhaps the main turning point of World War II in the
European theater. (a) The attempt to take Stalingrad alone diverted a million German
soldiers to the Russian front as European forces were resisting German encroachment in
Western Europe. (b) Caught in a fierce battle not only with the Russian army but also with
the unforgiving winter of 1943, the Germans were unable to secure Stalingrad after eight
months and lost a good portion of their forces and morale. (c) Bombing Germany’s cities
was also a major factor in the Nazis’ defeat, as it cut off supply lines and broke the morale of
German civilians. (d) Furthermore, the defeat at Stalingrad left Germany unable to fend off
an invasion from the East and West.

In a recent speech at the Kansas City Federal Reserve Conference, economics professor Carl
Walsh argued that low interest rates over an extended period may lead to future inflation.
(a) The U.S. Federal Reserve Bank has tried to calm such fears by paying banks interest on
the money it holds in them. (b) The U.S. Federal Bank sets the value of currency by either
investing or withdrawing money from American banks, which in turn determines how
much banks loan out and how much money circulates. (c) This move would likely prevent
banks from releasing this money into circulation because they would be making money
from holding it. (d) However, there are many pitfalls with this strategy, Walsh claims, as it
depends on whether or not banks raise interest rates on loans at just the right time.

Pictography is a form of writing that uses representational, pictorial drawings, and it serves
as the foundation of most ancient languages, such as cuneiform and hieroglyphics, and
some contemporary languages, too. (a) In the earliest civilizations of Western and Eastern
Asia, written symbols were based on pictographs — pictures which resemble what they
signify — and ideograms — symbols which represent ideas. (b) Such symbols were used in
ancient China beginning in 5000 B.C. and developed into logographic writing systems
around 2000 B.C.; thus, Asian languages that borrow Chinese symbols are also based on
pictographs. (c) The Chinese language contains several thousand symbols that can be
combined to form many different words. (d) Pictographs are still directly used as the written

languages in some non-literate cultures in Africa, the Americas, and Oceania.
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Read the passage. Then choose the option that best completes the passage.

Why does lead paint keep turning up in recalled Chinese-made goods, particularly toys? The
simplest answer, according to Chinese experts and toy companies,

Paint with higher levels of lead often sells for a third of the cost of paint with low levels.
Chinese factory owners, seeking profits in an intensely competitive and poorly regulated
market, sometimes cut corners and use leaded paint. Another problem is that the government
has no formal standard on lead in industrial paint. As a result, a lot of cheap industrial paint
may be finding its way into toy factories and even households.

(a
(b
(c
d

Rl

is the abundant amount of cheap lead paint available in China

-

is the desire of toy companies to sell their products at high prices
is a set of strict government regulations on the use of lead paint

= =

is because lead paint is commonly used on household appliances
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Strategy

Why does lead paint keep turning up in recalled Chinese-made goods, particularly

N —
toys? The simplest answer, according to Chinese experts and toy companies,

A A
. Paint with higher levels of lead often sells for a third of the

cost of paint with low levels. Chinese factory owners, seeking profits in an intensely

competitive and poorly regulated market, sometimes cut corners and use leaded

— —

paint. Another problem is that the government has no formal standard on lead in

industrial paint. As a result, a lot of cheap industrial paint may be finding its way into
//—\

toy factories and even households.

a) is the abundant amount of cheap lead paint available in China

b) is the desire of toy companies to sell their products at high prices

(

(

(c) is a set of strict government regulations on the use of lead paint
(d) is because lead paint is commonly used on household appliances
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M|n| TEPS Your Reading Time: min./7min.

1

Read the passage. Then choose the option that best completes the passage.

Bible llluminated, the latest attempt to bring the Bible into the modern world, is a 300-page
glossy magazine containing the whole text of the New Testament in a popular translation. It
also includes a number of images to accompany the scriptures, including urban flooding, a
Nigerian slaughterhouse, a girl eating noodles and a dog in a limo. “Some people will feel
it's dumbing down,” says David Ashford of the Bible Society, an organization that exists to
“make the Bible heard”. However, he explains that early versions of the Bible also had
pictures in order to attract a wider audience. “At first the Bible was a collection of scrolls,
then illustrated handwritten volumes. When printing was invented they were produced in
Latin with pictures.” Therefore, ironically,

a
b
c
d

Rantd

the images found in the original Bible are provocative

Nt

Bible llluminated is a movement to contradict the original Bible
the non-traditional format is actually similar to the original one

(
(
(
(

=

there were no images in the old Biblical scrolls

In November 1999, Seattle hosted a WTO meeting where the representatives discussed
international trading rules. Onsite public demonstrations arose against the talks, and
. Approximately 50,000 to 100,000 protestors from all

over the world, including human rights groups, students, environmental groups, and labor
rights activists came to protest against exploitative practices by the WTO. While the
majority were non-violent protestors, a few engaged in violence and looting that led to the
Seattle police and National Guard declaring a state of emergency, which was essentially
martial law. This in turn led to curfews, arrests, tear-gassing and even shooting rubber
bullets at innocent, non-violent protestors.

a) public support for the protestors caused the WTO to hear them out

b) officials took heavy-handed tactics and cracked down on free speech
c
d

the WTO relocated to another city where protests were forbidden
the protests subsequently spread to other areas throughout Seattle

— o~ o~ —

)
)
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3

Read the passage and the question. Then choose the option that best answers the

question.

Dear Mom and Dad,

I’ve been having a blast here at camp for the past few days. In fact, | can’t believe that

| was actually afraid of being gone for a whole week! Yesterday, my cabin leader took

us on a hiking trail up through the woods here, and we saw all kinds of animals like

deer and rabbits. I've also been busy practicing at the archery range and swimming in

the camp’s enormous pool. Tomorrow night, all the cabin leaders are going to have a

big cookout, and at the end of the week is a big dance for everyone. It will give me and

all the friends I've made here a chance to hang out one last time. Well, I'll see you next

week!

Love,
Arnold

Q: What is the main topic of the letter?

a
b
(¢
d

Rasid

The boy’s friends at the camp
The troubles the boy has had at camp
The activities held at the camp

-

(
(
(
(

=

The place where the camp is held

For Sale: A 2005 Used Office Printer. This is one of the latest and most sophisticated

models released by the JD printing company, sold here for much less than a brand new

model. This features a photocopier, scanner, and it has fax capabilities, too, but the fax

function is not supported by Macs or any computers made before 1999. The printer was

only used for six months in a small office before it was put into storage, so it is practically

brand new. The asking price is 200 dollars, but | am willing to negotiate. For more details,

call me at 555-908-4005.

Q: Which of the following is correct about the printer?

b) Its price is permanently set at $200.
(@
d

It has been used for several years.

(
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(©
(d)

a) It can only make scan and copy documents.

It is compatible with any computers made after 1999.
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5 Dear Mr. Helpful,

I work at an office in the downtown area. Ever since | began three years ago I've had
no complaints, and I’'ve been getting along well with all my coworkers. Then about
three months ago we hired a new guy who is very bright and nice, and he had a fairly
solid resume. Well, then | got a good look at his performance. He constantly talks
while everyone else is trying to work, and he never turns in his assignments in on time.
| don’t want to get anyone in trouble, but something needs to be done about this kind
of behavior. Any suggestions?

Sincerely,
Toby

Q: What can be inferred about the writer of the passage?

a) He feels that his coworker should be more professional.
b) He is able to ignore his coworker’s talking in the office.
c) He thinks that his coworker contributes a lot to the office.

)
d)

—~ o~ o~ —

He does not want the new guy to associate with other coworkers.

gt Read the passage. Then identify the option that does NOT belong.

6 Despite Secretary of the Interior Ken Salazar’s warnings about the explosive growth of bark
beetles that feast on pine trees, some environmentalists and scientists claim that the
beetles actually help forests. (a) After the beetles kill mature trees, the soil becomes more
fertile as nitrogen levels increase, sometimes tripling, so the growth rate of surviving trees
increases when the infestation ends. (b) The debate about bark beetles has recently
become a major issue in the United States, where the insects frequently infest national
forests. (c) Beetles help by breaking down fallen trees, as well. (d) “They are valuable in
terms of nutrient recycling, and they introduce micro-organisms that further break down the
wood,” said Dr. Ken Raffa, an entomologist at the University of Wisconsin.
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Read the sentence, and choose the best answer for the blank.

1. The recent development of the river may

(a) regulate (b) infest (c) provoke

2. Forced labor is prevalent especially in South Asia, where

(a) provocative (b) solid (c) competitive

3. The operating system is

(@) compatible (b) provocative (c) sophisticated
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(d) contribute

working is common.

(d) exploitative

with applications and hardware of any computers.

(d) explosive
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Just two centuries ago most of the world was ruled by monarchs, andwas a
rare privilege. Even in the United States, the first modern democracy,
generally restricted to white men who owned property. (CI2o| £&= HMSHel Haz|¥TFELE)
French political thinker Alexis de Tocqueville, though, was convinced an “irresistible
revolution” toward equality was under way. (5tx|2t 2 317} Mzl AHztn? oL s#e71?) Yet
by the close of the 19" century, universal suffrage — the right for each person to vote
—@was)far from becoming a reality. (1947| 71Xz SE#0| BE51| FO{XIA| 2U4TLL)

Use the Read the passage and the question. Then choose the option that best answers the question.

Strategy

Attention to Mr. Lesnar, Resident of Apartment A22: This is a notice from the property
management office requiring you to move out of your apartment within 48 hours. Your
monthly rent is more than a week overdue, and you have neglected to pay us the late fees
added to this amount. We are also taking into consideration complaints from the residents
about your loud music, disorderly parties, and numerous instances involving you and the
police. If you have not evacuated the premises within the allotted time, we will change the
locks on your door and have a warrant issued for your arrest.

What is the main purpose of the notice?

a) To announce the recent changes in the premise
b
c

d

Rl

To notify that the man is ordered out of a place

-

To request the warrant for the man’s arrest

(
(
(
(

= =

To urge the man to pay the late rent and additional fees
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Check the
Strategy

Attention to Mr. Lesnar, Resident of Apartment A22 (21712 22|31 k= ZXI20|7Lt):

This is a notice from the property management office requiring you to@move oubof

your apartment within 48 hours. (OlItE0|A LiZIEatn 276t QU7 fLU7k?) Your

monthly rent is more than a week overdue, and you have neglected to pay us the

late fees added to this amount. (22 %7 %i=.) We are also taking into consideration

complaints from the residents about your loud music, disorderly parties, and

numerous instances involving you and the police. (L{7} 0| Af2to| 0|20|ACHH ZF A41217404.)
If you have notthe premises within the allotted time, we will change the

2 =

locks on your door and have a warrant issued for your arrest. (0| Af2t2 Zloj| ofoll 2 =

Oi7h= it Az=ZE = AHL)

Q: What is the main purpose of the notice?

a) To announce the recent changes in the premise

b) To notify that the man is ordered out of a place

@
(b)
(c) To request the warrant for the man’s arrest
(d)

d) To urge the man to pay the late rent and additional fees
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M|n| TEPS Your Reading Time: min./7min.

1

Read the passage. Then choose the option that best completes the passage.

Zebra stripes are very useful. The wavy lines of a zebra blend in with the wavy lines of the
tall grass around it. Lions, which are colorblind, can’t distinguish between the green and
brown grasses and the contrasting stripes. Furthermore, when a zebra herd gathers, the
pattern of each zebra’s stripes blends in with the stripes of the zebras around it. This
confuses the lion, which sees a moving, striped mass instead of many individual zebras.
The lion has trouble picking out a target and sees an amorphous blob of animals moving
every which way. This also makes it more difficult for lions to target and track weaker
zebras in the herd. In all these ways, zebra stripes

(a) confuse the lion with the clear contrast of the colors
(b) are not practical for concealing zebras in tall grasses
(c) serve as an effective form of camouflage against lions
(d) help the animal identify other zebras and attract mates

Dear Mr. Brannon,

We at Clark and Gable Law Firms appreciate your application and resume for one of
the open legal clerk positions. Unfortunately, we must inform you that
. While your qualifications were exceptional, we

had many other qualified individuals who applied and only three positions to fill, and
the decisions on whom to hire were not easy. We apologize for any inconvenience, but
we will keep your resume and application on file in case another position becomes
available in the future. We would also like to wish you the best of luck in your future

endeavors.

Sincerely,
Linda Gable, Director of Human Resources

(a) you did not fill out your application correctly
(b) the salary for this job is not very high

(c) you do not have the skills we are looking for
(

)
d) we cannot offer you a position at this time
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Read the passage and the question. Then choose the option that best answers the
question.

Food poisoning is a common and serious illness that usually causes stomach pain,
diarrhea, nausea and vomiting. Listeria is a particularly nasty culprit, as is Salmonella,
which poisons approximately forty thousand people a year in the US alone. These germs
can pop up from a number of places. During the slaughtering process, harmful bacteria
from the animals’ intestines can contaminate meat and poultry, and so all raw meat should
be considered as potentially contaminated. Shellfish like oysters and mussels that grew
near sewage discharge can carry a multitude of infecting germs, too. In addition to this,
household pets and even other people can spread such bacteria.

Q: What is the passage mainly about?

a
b
(¢
d

Nt

The effects of food poisoning

il

The sources of food poisoning
The place where listeria is found

(
(
(
(

= =

The symptoms of bacterial infections

While declawing cats is seen as acceptable in America, it is considered inhumane and has
been outlawed in many European countries, with good reason. Unlike a toenail, a cat’s claw
is actually an extension of a bone in its paw, so one is actually amputating these joints
when declawing a cat. Not only is the surgery excruciating, but the cat continues to suffer
during recovery, as it cannot use wheelchairs and must still walk, jump, and shift litter
around. Furthermore, this amputation drastically alters the conformation of its feet, and the
cat is also deprived of its primary means of defense against predators if it ever escapes to
the outdoors. Also reported by owners are dramatic shifts in a cat’s personality upon being
declawed.

Q: Which of the following is correct according to the passage?

a) Extracting a cat’s claw has become legal in European countries.
b) The cat’s claw is more closely connected to bone than a toenail is.
c) A cat’s claws do not act as its first line of defense against hunters.

— o~ o~ —

)
d) Declawing has proven to be painless and harmless to most cats.
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5 In predicting volcanic eruptions, scientists find assistance in measuring changes in a
volcano’s landscape. Changes in slope can be measured precisely by various electronic
mechanical “tiltmeters.” Similarly, minute changes in horizontal distances can be measured
by laser beams, and tiny changes in vertical distances can be measured by precise leveling
surveys. However, these only record certain measurements. More important is the proper
analysis of present-day data, which requires a basic understanding of the prehistoric
eruptive record and behavior of a volcano with geophysical, geochemical, and geologic
studies. Such glimpses into a volcano's prehistoric past are critically important because
historic records extend over too short a time to permit the making of reliable predictions of
future behavior.

Q: What can be inferred about the methods of predicting volcanic activity?

a) Scientists have not had much success in reliably predicting eruptions.

b) A volcano’s history is too short to use it for predicting its future eruptions.

c) There have not been any advancements in technology detecting land changes.
d) While helpful, measuring land changes alone won’t predict an eruption.

gt Read the passage. Then identify the option that does NOT belong.

6 The GPS system was originally developed to help the military in its duties, but new
applications for it in civilian life are continually being found. (a) Many police, fire, and
emergency medical-service employ GPS to determine the specific vehicles nearest to an
emergency, thus facilitating life-saving responses. (b) Also, with GPS aircraft can quickly
plot the perimeter of a forest fire so supervisors can send fire fighters safely to key hot
spots. (c) The GPS is made up of satellites orbiting the Earth, control and monitoring
stations on Earth, and the GPS receivers. (d) Furthermore, fleet vehicles, public
transportation systems, and courier services use GPS receivers to monitor their locations at
all times for both efficiency and safety.
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Read the sentence, and choose the best answer for the blank.

1. People may consider eating dog meats as

(a) outlawed

(b) excruciating

, but it is a matter of likes and dislikes.

(c) amorphous

2. The board will decide how many shares should be

(a) distinguished

(b) allotted

3. This patient’s toes should be

(@) concealed

(b) employed

(c) plotted
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(d) inhumane

to each member.
(d) altered

, or the infection will spread to the leg.
(d) identified

(c) amputated
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